
MTH 266, Quiz #4, Fall 2018  Name ____________________________________________ 
 
Instructions: Show all work.  Use exact answers unless otherwise asked to round. 
 

1. Consider the transformation 𝑇: 𝑃𝑛 → 𝑃𝑛+1 such that  𝑇(𝑓) = ∫ 𝑓(𝑥)𝑑𝑥
𝑡

0
.  If 𝑓(𝑥) is any 

polynomial in 𝑃𝑛, use the definition of a linear transformation to show that 𝑇 is linear. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2. Compare Problem #1 to the following: Consider the transformation 𝑇: 𝑅3 → 𝑅3such that  
𝑇(𝑥⃗) = 𝐴𝑥⃗.  If 𝑥⃗ is any vector in 𝑅3, use the definition of a linear transformation to show that 𝑇 
is linear. [Hint: use properties of a matrix.] 

 
 
 
 

 


